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Radon Transform-based Moment Feature Extraction and
Classification of Underwater Acoustic Image

LIU Chen-chen, SANG En-fang, ZHANG Zhi-meng

(School of Underwater Acoustic Engineering, Harbin Engineering University, Harbin 150001)

Abstract The analysis of underwater acoustic image object of sonar is a key issue in autonomous underwater vehicle(AUV). By applying Radon
transform, a new method for underwater acoustic image’s feature extraction and classification is proposed, which is non-sensitive to the ambiguous
noise. After getting the close edge by morphological edge extraction and thinning operators, this paper constructs the edge moment invariants based
on Radon projection and uses them in classification of three kinds of underwater objects. Simulation results show the proposed method is robust and
its effectiveness is better than Hu’s moment invariant and object’s plane moment invariance in Radon projective space according to the computing
speed.
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